Algebra 2: Solving polynomial equations (continued)

HW: Day 8 WKST (#2-8even, /)
AND
odd questions on the review



Find all possible rational zeros.
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1) f(x)=4x -x"-4x+2



Find all possible rational zeros.

2) f(x)=5x"-14x>-58x-11



Factorable: 2 3, and 5

Not factorable: 1, 4, and 6
(list the rational zeros; find
one that 'works' and then
continue solving.



Find all possible rational zeros.
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3) f(x)=x"-12x> +24x-8
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Solve.

1) ¥ +5x*+7x+3=0
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Solve.

2) 2x +3x*+x=0
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Solve.

3) 4x’—x*-4x+1=0
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Solve. 1) -9 -1
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4) x3_5x2-29x-15=0 - §
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Solve.

5 X’ +5x*-2x-10=0
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Solve.

6) 2x>+5x*+x-2=0
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Complex Conjugate and Irrational Conjugate Theorem

Imaginary and irrational roots always come in CD(\J\/W Pﬂl )



Write a polynomial function, f(x), in standard form with integrai
coefficients and the given roots.
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Write a polynomial function, f(x), in standard form with integrai
coefficients and the given roots.
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Write a polynomial function, f(x), in standard form with integrai

coefficients and the given roots.
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Review: Divide using long division.

(x> =6x+11)+(x-4)



Simplify.
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Is (x - 2) a factor of x> —6x*>=T7x+1 7



Factor completely.

27x* +64x



